SERE2 S5EE(EE1 5ME)
75—\ T 14Xy TR

IR EMRFEEFBI SR)

%

8A2180K) ZME464 - Riz14
6,222YARD PAR72 R ByRAVR) =957
B K 4 Fr & OUT| I N |GROSS|H cp| NET| & #
1K % Z B | F 45| 45 90| 28.9| 61.1|F:F:&EE
21f8 EE B B |EXAIR 43| 43 86| 21.3| 64.7)|F&&EAE
3l B & & |In & 42| 43 85| 20.0| 65.0(FEFEE
4|& B E AN |[EXFAIIR 41 41 82| 15.9| 66.1)|%&&E A
518 K & & |7)-VeiRR 41 47 88| 21.5| 66.5)F% & @B
6% A B B |7U-bLiRR 44| 41 85| 18.4| 66.6]F & @A
6K A X f [B IR 40| 43 83| 16.4| 66.6)FEiEE
8|XESE 1 M |E T 45| 37 82| 15.1| 66.9FE:FE
9ll/d NI = B |ELAR 43| 39 82| 15.0| 67.0)F&E&EAE
10| H E A |KEE 43| 40 83| 15.5| 67.5)|F:&&EB
i & % X |[IKEFEO 48| 39 87| 17.4| 69.6)FFEFE
12|= = E 8 |EX7R 45| M 86| 15.8| 70.2[|%&E&EE
13|k B IE & |7U-YELERE 46| 43 89| 18.6] 70.4
14 {7 B @ E |IRBEtUM-IF 46| 42 88| 17.5| 705
1598 Bl & |m IR 48| 42 90| 19.1| 70.9
16 (& 5 |EyIR 42| 42 84| 130 71.0
173 B B X |7)-VELERE 50| 47 97| 25.8| 71.2
17|& 8 #h = |[EXAR 39| 46 85| 13.8| 71.2
19 X B (LT 45| M 86| 14.5| 715
9(E I E [J)-VEIIEER 45 41 86| 14.5| 715
21|— & R A |£REZE 43| 44 87| 14.9| 721
22| XK A B £t [TA4)—IWE 42| 43 85| 12.7| 723
23| B8 & B9 | F 46| 43 89| 16.4| 72.6
24 |8 & f@E—BB (L [E 43| 52 95| 22.3| 727
25 [IMNAR  E |BFBIR 44| 43 87| 142| 7238
26|58 1 T B kK 46| 47 93| 19.8| 73.2
26|k ¥ # & (BB B 43| 45 88| 14.8| 73.2
1/2R=2 hET L TER




8H21H(K) SNEA64 - RIF14

6,222YARD PAR72 R ByRAVR) =957
BRI K 4 Fr & OUT| I N |GROSS|H cp| NET| & #
28 | ¥ X BH |[t8 F 45| 45 90| 16.6| 73.4
29 ¥ Jk B X |ExWR 44| 45 89| 14.7| 74.3
| Bk x 7 | H 43| 50 93| 185| 745
31 |7 & |BELAR 41 48 89| 14.1| 74.9
2% FH R & |BREAER 44| 45 89| 13.2| 75.8
B[P M E X (KR 48| 48 96| 20.0| 76.0
B|KX # 5 7 | H 42| 47 89| 13.0| 76.0
B5(E I E X [EXAIR 48| 42 90| 13.9| 76.1
6 iF A K E |[EABLE 44| 46 90| 13.7| 76.3
7!y F IE 1 | TA)—ImE 45| 46 91| 14.6| 76.4
38 |L H &= |[PEL 45| 49 94 17.0| 77.0
| H E 7 |ExHR 42| 49 o1| 13.8| 77.2
40 % O = 4 (b [ 41 50 o1f 13.3| 77.7
M4t N # = |[9)-VELERR 49| 49 98| 19.9| 78.1
2k #F = E (KRB 54| 46| 100| 21.1] 78.9
43 |# £ #0 3= |TOSHIN Centra| 46| 49 95| 16.0/ 79.0
4 \F BF k= |ByE 47| 46 93| 12.8| 80.2
45 7] A B B |B K 47| 53| 100| 15.6| 84.4

A XS B K 2

XKE®HEBH # Ri5

2/2R—=2 hET L TER




